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1. Céu héi tric nghi¢m: Chon 1 cau tra loi ding nhit

1) Susan v& hinh trén mot t& giay trong su6t nhu hinh bén.

Hinh nao dudi day cé thé dugc tao thanh khi xoay hodc 1at hinh bén?
A. B. C. D.

16 diém

2) Tiét hoc dau tién cua Mary bat dau lac 9:20 sang. Mdi tiét hoc kéo dai 40 phiit
va sau mi tiét duge nghi giai lao 10 phut. Sau tiét hoc thir tu, thay vi nghi giai
lao 10 phut hoc sinh s& duoc nghi 70 phat dé nghi trua. Tiét hoc thir nam cua
Mary bt dau ngay sau gio nghi trua. Hoi tiét hoc thir nam ctia Mary két thac luc
may gio?

A. 1:50 PM B. 2:20 PM C.2:50 PM D. 3:20 PM

/6 diém
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Hoc sinh khéng viét vao phin nay
vi day la phach, s& bj cit di

3) Hinh vé duci day dugc ghép tir nhitng 6 vudng cung kich thude con dé ann
hoae da duoc t6 didm. Dé 73% tong s6 6 vudng dugc 16 dam, sd 6 vudng tring ]
can to la

A 14 B. 12 C.16 D. 10
/6 diém

4) Mét qua bong tron chuyén dong lan trén mot mat san phmnt nim ngang nhu

hinh minh hea bén. Cho biét qua bong khong trugt va chuyén dong doc theo —

mOt mit phing vuéng géc véi mét san. Hinh nao sau diay mé ta dirdmg di cua

van (lo van) cua qua bong khi Jan?

A B. C. D.

O/ O OV O

/6 diém

3} Jenny ¢6 mot thanh socola van kich thude ;;ifmg nhur hinh. Sau khi chia cat
thanh stcdla ra nhimg miéng nho bang nhau thanh 6 dai ngang va 8 dai doc,
Jenny dé an nhirng mieng socola nho & ngoai ria cua thanh socdla. Héi phan
con lai cua thanh socdla chiém bao nhiéu phin ciia thanh socola ban diu?
A 12 B. 1/3 C.1/4 D. 213

/6 diém

6) Jim thue hign mot cude khao sat vai 30 hoe sinh vé vat ¢ CUNZ MA  $§ hoc sinh co nudi vat cung
cac ban dang nudi ¢ nha. Két qua duce thé hién & biéu do bén,
Puoge biet e mt hoe sinh nuoi 2 loai vit cung. mot hoc sinh nudi
3 loai vat cumg va nhimg hoe sinh con lai khong nudi nhiéu hom |
loal vit eung. Dua trén thong tin nay hdy tinh 80 hoc sinh duoe
khao sat khong nuéi bat cir loai vit cung nao.

A1 B. 2 £.:3 D. 4

/6 diém
Chim Méo Ché Cé

7) David quén mét ma s6 mo két sit. Chi biét ring md so 6 4 chir s6, mdi
chir so cd thé ur 0 r‘len 9 (co theé lap lai). Chir s6 diu tién khong phai la so 0.
Ncu md s6 la mot s6 chia hét cho 10, cé bao nhiéu ma sb dap tmg duoc yéu
céu néu trén?

A. 801 B. 900 €.90] D. 1000

/8 diém

Trang 2/4 Ky thi “Todn hoc - Tu duy va thye tién® — Bl thi sd 1



Hoc sinh khéng viét vao phan nay
vi day la phach, s& bj cit di

8)Col chiéc két sat véi mét ma 4 chir s& gdm cac s6 0 va sé 1. Mat ma duoe cap
nhat m01 ngay 1 lan theo 1 quy luét. Cir ding 9 gi¢ sang vao nhiing ngay lé thi
chir s6 hang thir 1 va tha 3 doi tir 0 sang 1 hoac tr 1 sang 0. Lac 9 gio sang
nhimg ngay chin, chir s6 thir 2 va thi 3 ddi tir 0 sang 1 hodc tir | sang 0. Néu mat
ma vao ngay 10/5/2015 luc 10 gio sang 1a 0111 thi mat ma vao ngay 1/5/2015 luc
10 gior sang 1a s6 nao?
A. 0111 B. 1011 C. 1101 D. 0001

/8 diém

9) C6 6 em hoc sinh choi bong ban trong nha thi déu cua truomg vao thir Bay, tir

8:00 dén 11:30 sang. Céc em choi & 2 ban va thi ddu ca nhan. M&i tran déu, 4 hoc

sinh thi diu & 2 ban, va c6 2 em lam trong tai. Cho ring thoi gian choi ciia mdi

em bing nhau, vy mdi em di choi dugc bao nhiéu phuat?

A. 100 phut. B. 120 phut. C. 140 phut. D. 150 phut.
/8 diem

11. Cau héi ngin: Tra I6i cdc cdu hoi ngdn duwdéi day. Hoc sinh trinh bay bai lam ngay trén bai thi nay.
1) Dudi day la danh sach cac nguyén licu can dé 1am moén kem dau.
Kem déu (khau phan 8 nguoi)
Kem tuoi: 0.5 L; Dau: 1 kg; Puong: 250 g.
Luong nguyén liéu néu trén da dé lam mon kem thanh 8 phan cho 8 nguti 4n, mdi phan di cho 1 nguoi.
a. Lucy lam kem cho 12 nguoi. Hoi Lucy phai sir dung bao nhiéu lit kem? (5 diém)

b. Fred sir dung cung thanh phan va ti 1& néu trén dé lam mon kem dau. Hoi néu Fred
str dung 2,5 kg dau thi ciu ay can sir dung bao nhiéu gam duong? (5 diém)

/10 diém

2) Mdt cudn tir dién cii va day c6 mot sb trang & khoang giita bi xé mat.
Trang dau tién cua phan bi x¢ l1a trang 143 va trang cudi cung bi x¢ la mot
s6 ¢6 3 chir sb gom cac sb 1, 4 va 3. Hay xac dinh tong sb trang bi x¢é mat.

..............................................................................................................................
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Hoc sinh khéng viét vao phin nay
vi dity 1a phach, sé bj cat di

3) Cac hinh bén la vi du ciia 3 hinh vudng co kich thudc gmn; nhau
durgre up canh nhau thanh cac “hinh d6i ximg qua mét dudmg thing™.

Viy voi 3 hinh vudng ¢6 kich thude giong nhau dat canh nhau, ¢6 thé
& duge bao nhidu hinh doi ximg qua mét diimg thing?

{Ll.ru ¥: céc hinh trung nhau khi xoay hodc 141 duoc tinh 1a 1 hinh)

Vé hinh:

____hinh
/10 diém
4) Neuin ban hing xép mot ‘;u triil quyt bing nhau vio méi hop. Sau khi dong goi

52 hop, con du 8 trai. Néu xép moi hép it hon 2 trdi, toan bo so quyt s& duge xép
viio 60 hop bang nhau. Hoi ngudi bin hiing co bao nhiéu trai guvt?

 tran quyt

/10 diém
5) Can di chuyén nhimg chi éch & Team A tir bén trai sang vi tri cta Team B bén phéi, va nguoc lai.
Liuru v
- Nhimg cha éch nay khong dum nhay lui

- Ech co thé nhay dén vi tri lmnE trude mat
- Chi c6 thé nhay qua dau 1 chi éch khac mdi lan nhay

T e ) Team A Team B
Néu moi bén ¢6 3 cha ech, vay
it nhit cin bao phiéu lan onhay dé “‘.‘
hoan thanh viéc hoan déi vi ti nay? '

SO lan nhay itnhat=_
‘ ‘

/10 diém
HET

Trang 4/4 Ky thi "Todn hoc — Tu duy v thyge tién” - Bai thi s 1
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| Ghi day du cac myc & trén.
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WORLD MATHEMATICS OLYMPIAD

PAPER 1 — Time allowed:

9() minutes

RS I | I % . | | I i : 1
| Multiple choice | | 2| 30 4 0 2 i 6 l 7 | 8 ; 9 | Total |
T Maks | 6| 6] /6] 6] 16 6| 8| 8| .| 60|
T Short answer ' 1 I 2 1 3 ! 4 { 5 | Total -
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-
| TOTAL | /110 |

1. Multiple Choice Questions: ( ‘ircle the correct answer

1) Susan drew a figure on a piece of paper, as sho
Which figure below can be formed by either rot

figure?
A.

B. C.

2) Mary’s first class starts at 9:20 AM. All her classes are

with 10-minute breaks after each class. Afte
10-minute break, she has a 70-minute lunch period. Her fifth period class starts
immediately after lunch. At what time does Mary

A. 1:50 PM

B. 2:20 PM C. 2:50 PM

r her fourth period, instead of the

s fifth period class end?

wn in the image on the right.
ating or flipping the right side

D.

40 minutes long

D. 3:20 PM

/6 marks

/6 marks
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Hoc sinh khong viét vao phan nay
vi day la phach, sé bj cat di

3) The following 1s a figure made of white and shaded squares of the same size.
In order to make the shaded part cover 75% of the whole figure, how many
white cells must be shaded?
Al 14 B. 12 C.i16 D. 10

/6 marks

4) A ball rolls along a flat surface. as shown in the image below. The ball does

not slip. 1t rolls straight aleng a vertical surface perpendicular to the ground. o
Which of the following pictures demonstrates the path the valve (air hole) of the

rolling ball?

A. B. gk D. s

e
\.
9)
N\
)
3
R

5) lenny has a bar of chocolate (as shown in the picture). After dividing the
chocolate bar into 6 rows and 8 columns of equally-shaped pieces. she ate the
pieces on the outer edge of the chocolate bar. Compared to the original
chocolate bar, what is the ratio of the remaining part?

A 12 B. 1/3 C.1/4 D. 23

{6 marks

6) Jim conducted a survey of 30 students regarding the types of petS  The number of studens with pets
they had. The results are shown in the graph below. There is a f
student that has 2 types of pets, a student that has 3 types of pets,

and the remaiming students do not have more than 1 type of pets. 18
Based on this information, determine the number ol students in
Jim’s class that do not have a pet.

Al B. 2 C. 3 D 4

/6 marks 0
Birds Cats Dogs Fish

7) David forgot the code to his safe. The only thing he could remember is that
the code is a four-digit number, and the possible digits are from 0 to 9 (digits
can be repeated). However, the first digit cannot be a (. If the code is a
multiple of 10, how many possible codes can he have?

A. BDI B. 900 C. Yol D. 1000

/8 marks

Page 2/4 —World Mathematics Oiympiad - Paper 1



Hoc sinh khéng viét vao phan nay
vi day la phach, s& bj cat di

8) There is a safe with a four-digit passcode composed of 0Os and Is. The
passcode is updated once a day. At 9 A.M. on days with an odd numbered date,
the first and third digits of the passcode are changed from 0 to 1, or [ to 0. At 9
A.M. on days with an even numbered date, the second and third digits of the
passcode are changed from 0 to 1, or 1 to 0. If the passcode on 10/5/2015 at 10
A.M. was 0111, what was the passcode on 1/5/ 2015 at 10 A.M.?
A. 0111 B. 1011 C. 1101 D. 0001

/8 marks

9) Six students played table tennis in the school gym on Saturday from 8:00 am
to 11:30 am. They rented two table tennis tables and held singles competitions.

For each game, 4 students competed on the two tables and 2 students refereed.
Assuming each student played the same amount of time, how many minutes did
each student play for?

A. 100 minutes B. 120 minutes C. 140 minutes D. 150 minutes

/8 marks
I1. Short Answer Questions: Answer the questions below. Show Your working on the test paper
I) The following is a list of ingredients needed to make strawberry ice cream.
Strawberry Ice Cream (serves: § people)
Cream: 0.5 L; Strawberries: 1 kg; Sugar: 250 g.
The amounts of the listed ingredients above will create enough ice cream for 8 servings, and each serving
feeds only one person.
a.  Lucy made enough ice cream to serve 12 people. How many liters of cream did
Lucy use? (5 marks)

b. Fred used the same ingredients and proportions to make strawberry ice cream. If
Fred used 2.5 kg of strawberries, how many grams of sugar did he use? (5 marks)

2) A thick, old dictionary has several of the pages in the middle ripped out.
The first page number of the ripped part is 143, and the last page number is
a 3-digit number that consists of the numerals 1, 4, and 3. Determine the
total number of pages that have been ripped out.

pages
/10 diém
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3) The following images are examples of three egually shaped squares

placed together to form “line svmmetnc figures.”

With 3 equally shaped squares placed iogether, how many line
symmetric figures can be drawn? T
(Note: figures that evenly overlap when rotated or Nipped shail count '
as one.)

Diraw the figures:

figures

A marks

4) A merchant is packing boxes with the same number of mandarins in each box,
After packing 52 boxes. there are 8§ mandanns left over. I packing 2 less
mandarins per box results in 60 boxes being packed equally, how many mandarins
in otal does the merchant have?

mandarins
(0 marks

31 Swap the frogs over: The frogs from Team A should finish on the nght, and Team B on the left,
Note:
- Frops cannot jump backwards Team A Team B

- Frogs can slide inlo an empty ‘ba
= Py

- Frogs can hop over 1 other y i
frog at a ime

If there are 3 frogs in Team A and /\21

3 frogs in Team B. what is the =
minimum number of moves needed 10 S o

swap the frogs over?

Minimum number of moves = /10 marks
END OF TEST
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